Question #1

H A box of crackers has 148 crackers in
H if. If Miguel and his three friends split
H the box evenly, how many crackers
H will each of them get?

Answer #1

37 crackers

Choose Points!

Question #2

H There are 87 kids at summer camp. They
H are sleeping in cabins that fit 9 kids

H each. How many cabins will they need

H to fit all the kids?

Answer #2

10 cabins

Choose Points!

Question #3

H A bag of candy has 556 pieces of

H candy in it. Gracie and her family

H are splitting the pieces evenly. If

H there are 4 members of the family,

H including Gracie, how many pieces
H will each person get?

Answer #3

139 pieces

" Answer | Choose Points!
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